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kkxkxok ko ok K5 ok ok % (21&H)
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6900 4?00 3?00 21‘100 1‘200 N4 s K 12‘00 21‘100 3?00 45‘300 6900
¥ 1 rz 1+
} 41100~ 42+
¥ 56 95~99| 255 | k%4
+ 4% 293190 ~94| T43| xkxxkx+
+kkkkkk k% 1041 {85 ~89 1676 ¥kkkxkkkkkkk k4
+kkkkkkkkkkkkkkkkkkk 2333 180~84| 2801 fkkkkkkkkkkkkkkkkkkkkxk4
+xkkkkkkkkkkkkkkkkkkkkkkkkkkk 3365 |75 ~79| 4175 kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk4
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk 4254 170 ~74| 4812 fkkkkkkkkkkkkkkkkkkkkkkkkkkhkkkkhkkkkkkkkx+4
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkxk 3931 165 ~69 3973 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk k%4
+hkkkkkkkkkkkkkkkkkkkkkkkkkkkkkx 3753 160 ~64| 3515 kkkkkkkkkkkkkkkkkkkkkkkkkkkkk+
+hkkkkkkkk kR kkkkkkkkkkkkkkkkkkkk k& 4530 |55 ~59| 4235 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkx4
+kfkkkkkkkk bk kR kkkkkkkkkkkbkkkkhkkkkkkk k%% 5585 |50~ 54| 5045 kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkk+
+hkkkkkk kR kkkkkkkkkkkkkbkbkdkkbhhkkkkkkkkkkkkkk% 6069 |45 ~49| 5498 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkkhkkkkkkkkkkkkkkxd
+kkkkk kb kkkkk bk kkkkkkkkkkkkkkkkkkkk k& 4953 140~ 44| 4566 fkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkkxkkkkd
+kkkkkkkkkk kxR kkkkkkkkkkkkkk k& 4223 135~39] 3750 kkkkkkkkkkkkkkkkkkkkkkkkkkkxkkk4
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkkkxk 3904 130 ~34| 3453 fkkkkkkkkkkkkkkkkkkkkkkkkkkx+t
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkk 3530 125~29| 3309 kkkkkkkkkkkkkkkkkkkkkkkkkkkd
+kkkkkkkkkkkkkkkkkkkkkkkkkkkkkk 3698 |20 ~24| 3382 ¥kkkkkkkkkkkkkkkkkkkkkkkkkkx+t
+kkkkkkkkkkkkkkkkkkkkkkkk 2966 |15 ~19 2762 kkkkkkkkkkkkkkkkkkkkkxk4
+kkkkkkkkkkkkkkkkkkkkkkk 2804 |10~14| 2619 fkkkkkkkkkkkkkkkkk kx4
+kkkkkkkkkkkkkkkkkkkxk 2547 h~ 9 2608 ¥k kkkkkkkkkkkkk Kk kKX
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